BRONZE Challenge

Part 3
Can you multiply by 2 and 10? You have 5 minutes to answer as many questions as you can. If you get 45 or more you can
be awarded the bronze certificate and move on to the yellow challenge.

ZSe‘r:son 7se‘r.<iof10 10x 3= 2x6= 7se‘r:sof2 10x11= 5seTs:of10 lseT:ofIO 10x 5= 2x2-=

4se‘r:sof2 ZSe‘riofIO 2x5= 10 x 10 = 6se’riof10 2x0-= 8seTiof10 OseTiofIO 10x 12 = 10x2-=

4se1‘iof10 5se‘r:sof2 10x 5= 2x8= 1setof 2= 2x12-= llseT:son 9sefsiof10 2x1= 10x 8 =

6se‘r:sof2 Ose‘r:son 2x10= 2x4-= SSe‘r:son 10x6= 9seT:sof2 12561‘:501‘2 2Xx7-= 10x4-=

3setsof 2 | 3setsof 10| 10x2= 10x9= |9setsof 10| 10x0= 12 sets of | 10 sets of 2 2x3= 2x9-=
- - - 10 = -

How many did T get right?

I need fo repeat / try the next level




